EARAROBEEIERT — 2 N— IBISH —F

2019597158 (B) 4EIF4H

R X

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S Sace S o2 | HHE 1:49.5 1-1-1-1 | 35.3| 84.8 | 1 442 | BEAFIA (EH)
1712/ YT 7Ny >ra 54.0 (-) (-10) LSEME—
R:T—IRI-X B:E—-FT74X $#ME  IER
=, 4t 2 | FFHIEARR 1:49.7 6-5-8-7 |34.9| 82.9 | 3 488 | BIUEE (i)
2|8|15| 7R HZ 7/ -0 %53.0 (1 1/2) O | TESHE=A—LF1 TR ()
R:Z27)—>kb—A— B:7AXbkYoaYy IS5
> . i o2 | ZHE2 1:49.8 4-2-2-2 | 35.5| 81.4 | 2 480 | EFME— (EH)
] © KIEREEA 54.0 (3/4) o) | (8 HAL—ZA-2
XL THANXIN B TI— L HET 7 — LI
o= s 2 | HEAA 1:50.1 4-5-5-3 | 35.6| 78.3 | 7 438 | EEFEZ (EH)
4PN 6| FIRELNT - 54.0 (1 3/4) © | @ EvTLy KT
LTANWNTTFY— B:XrL2TTT EvJdLy RTp—L
S LR 4 2 | FREK 1:50.1 6-5-5-3 | 35.6| 78.3 | 4 444 | HEREB (X))
5(8|14| YT RIVIZ K- 54.0 (7€) vg | ) $5TLy K257 5747
ATz —"dI B:vrNT EvJILy RT77—L4
D st 2 | FR—# 1:50.2 11-12-14-10( 34.8 | 77.8 | 5 476 | PERE (FiH)
6N 4| 717722 53.0 (1/2) (cay |FEEBA
R:r—775>3 B:7URA>TUT b AXFRBEFLASERBES
LTSN s 2 | REES 1:50.3 13-13-7-8 | 35.7 | 76.0 | 13 | 398 |EHFAI (Xik)
d 3 AR e A 54.0 (3/4) 4o | W v
STANNTTFY— BRTFTF1UTIE ARETa—T7—L4L
> LS 4 o2 | Bt 1:50.3 9-8-8-8 |35.5| 76.6 | 9 500 | =iEtEE ()
sy ¥ TRITIL 54.0 () Gay | B ¥ITLYEs5T 5707
L:d—IKRYy T B:FTU—K)—L EvilLy RIT7—L
B s 4 2 | EEER 1:50.6 13-14-12-13| 35.4 | 73.6 | 8 442 | FEEE (R
9l1]|1|F=YV—TH—A #53.0 (1 3/8) vg) | EWLEE
LihHL>TISyoEl BiRAFavlL1a LTHIT7—L
. . 4 2 | HEAA 1:50.7 2-32-3 | 36.3| 69.5 | 6 462 | HALLRHE (58)
10 11 1A>TILY 54.0 (1/2) (+4) (B) AXREYa—T7—L
R:Ya—-HhTF—/ B:xa-—rTH> =AHE B
. 4 o2 | ENEAFE 1:50.8 15-15-14-15( 35.3 | 71.6 | 14 | 446 | DOEELIRN (i)
1115/ 8 Ed e 2 54.0 (1/2) +2) IRL—2Y
ixALIZ Ty —R BN FTAT i 5hE
T # 2 | ERMAR 1:50.9 2-3-2-3 | 36.5| 67.7 | 11 46 | RIHT (ERH)
12 10 T+—N\XTLA A51.0 (1/2) (+2) RIBRA
Vv A2y 4 B:EL1T7HN—I ks
- . . B2 | BEET 1:51.0 11-10-12-10| 35.8 | 69.7 | 10 | 434 |B&FH+ (E#)
1300 7| A=>Fauv> 54.0 (1/2) 4y | B INTr—n
Z:E'ErFAyY B:FILIR—)L INTr—L
S, o o2 | AEHRIR 1:51.5 9-10-8-10 | 36.7 | 62.1 | 15 | 486 |ithEEFN (i)
14|59 LAML—23 > 4.0 (3) (0) [ R 4 e
LTHIHXL TR BAY ) —=2F Pal:bie )
= B 2 | BEXLT 1:52.0 6-8-11-13 | 36.9 | 57.5 | 12 | 408 |fREEAL (k)
1517113 JA-ZIA -7 A51.0 3) ) SfEER
Z:vna7x BiraVlbN—tb ey
@ 21 L
£ 47.4-35.3
NA> 24 L | 12.8-12.3-12.2-12.6-12.2-12.1-11.7-11.7-11.9
® 1—F—@EBIERL
13—+— | 12(10,11) (3,6) (13,14,15) (2,9) (4,7)-(1,5)-8
23—+ — 12,3(10,11) (6,14,15) (2,13) (9,7)4,5,1-8
== 12(3,10,11) (6,14)5(2,9,15)13(1,7) (8,4)
43—+ — 12,3(6,14,10,11)15(2,5) (9,7,4) (1,13)8
[ N5
B 12 280M 714K 12-15 190M e E 7-8 4008 JEE 3-12-15 530
# B 12 120M =12 260M B = 12-15 460M 3EE 12-15-3 2,330
15 1204 3-15 250M B H 12-15 830M
8 120/

ABICOVWTRDTEEERROODE. TR LIV,




